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def printInfo():
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def sum numl(a, b):
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:paramb: & 2
:return: iR [
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return a +b

help (sum numl)
BATHE R

Help on function sum numl in module main

sum numl (a, b)

SR PREL sum numl
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:param b: ﬁ}?ﬂ( 2
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def add2num(a, b):
c=a+t+b
return c
print ("FREGETTH ™)
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sumValue =add2num (2, 3)

print (sumValue)
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def sum num(a, b, c):

return a +b +c

#3R =AY ME
def average num(a, b, c):
sumResult =sum num(a, b, c)

return sumResult / 3

result =average num(l, 2, 3)

print(result)
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def printString(obj):

print ("JE{H:", obj)

obj +=0bj
# V5 ] PR &

strslogan ="AEHL, Ficffid
print ("EREFHET: ", strslogan)
printString(strslogan) # R AT AE XS G FAF R
print ("BREHIAHIG ", strslogan)

listslogan = ["ANERL", il "]

print ("EREFHAET: ", listslogan)

printString(listslogan) # R AT AR X 52 5 %
print ("BREHIAHIG ", 1istslogan)
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def fun bmi (person, height, weight) :
rUDIRE AR B AR 5 BMT 45 L
:param person: I4
:param height: &
:param weight: KT

:return: none

print (person+ "M EE K :"+str(height) + "KIK&E : "+ str(weight) +"T L")
bmi =weight/ (height * height)
print (person+ " BMI 8% M : "+str (bmi))
# K W7 B 4 = R AR
if bmi <18.5:
print ("IREIRE ")
if bmi >=18.5 and bmi <24.9:
print ("IEH W, FEMAR.
if bmi >=24.9 and bmi <29.9:
print ("R AE T E
if bmi >=29.9:
print ("ABREI ™
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fun bmi ("FH", 1.78, 75)
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def winprize(name, prize):
return "{ }%ﬁ{}".format(name, prize)
#98 FH pR &K
print (winprize ("Z " F", "FERK "))
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print (winprize (prize="4F%¥", name="2"F"))
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def user info(name, age, gender):
print (£'f&MN 4 F & (name}, FIRIE (age), HHIJE (gender) )
user info('Rose', age=20, gender= /b

user_info('huayi', gender= "JHr, age=6)
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def printinfo( name, age =100):
# AT AT AT 42 A B9 54
print ("Name:", name)
print ("Age:", age)
#J8H printinfo R
printinfo(name="cau" )

printinfo(name="cau",age=110)
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Name: cau

Age: 100

Name: cau

Age: 110
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# 58 LR
def printschool ( * name) :

print ("\n BB KFE:™

for item in name:

print (item)

# R BRI
printschool ( EERET)
printschool ("HH R, LRI
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printschool ( * schoolname)
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